This report contains the transfers results.

1,424

3

357

Contest Name East Mainland South Ronaldsay and Burray Ward Valid Votes Positions to be Filled Quota

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Norman Rae CRAIGIE		238
Andrew DREVER	Independent	509
Jim FOUBISTER	Independent	192
John Stanley GROUNDWATER	Independent	201
Steve SANKEY	Scottish Greens	284
	Total	1,424

Candidate Andrew DREVER Elected with 509 votes, being in excess of the quota of 357

This report contains the transfers results.

Stage 2 - Surplus of Andrew DREVER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Norman Rae CRAIGIE	147	0.29862	43.89714
Transfer to Andrew DREVER	0	0.00000	0.00000
Transfer to Jim FOUBISTER	132	0.29862	39.41784
Transfer to John Stanley GROUNDWATER	95	0.29862	28.36890
Transfer to Steve SANKEY	60	0.29862	17.91720
Value of non-transferable ballot papers			22.39892
	Total		152.00000

N.B. The figures may not add due to rounding.

This report contains the transfers results.

Stage 3 - Exclusion of John Stanley GROUNDWATER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Norman Rae CRAIGIE	31	0.29862	9.25722
Transfer to Norman Rae CRAIGIE	63	1.00000	63.00000
Transfer to Andrew DREVER	0	0.00000	0.00000
Transfer to Jim FOUBISTER	20	0.29862	5.97240
Transfer to Jim FOUBISTER	28	1.00000	28.00000
Transfer to Steve SANKEY	25	0.29862	7.46550
Transfer to Steve SANKEY	74	1.00000	74.00000
Value of non-transferable ballot papers			41.67378
	Total		229.36890

N.B. The figures may not add due to rounding.

This report contains the transfers results.

Stage 4 - Surplus of Steve SANKEY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Norman Rae CRAIGIE	21	0.02054	0.43134
Transfer to Norman Rae CRAIGIE	117	0.06881	8.05077
Transfer to Andrew DREVER	0	0.00000	0.00000
Transfer to Jim FOUBISTER	9	0.02054	0.18486
Transfer to Jim FOUBISTER	58	0.06881	3.99098
Transfer to John Stanley GROUNDWATER	0	0.00000	0.00000
Transfer to Steve SANKEY	0	0.00000	0.00000
Value of non-transferable ballot papers			13.72475
	Total		26.38270

N.B. The figures may not add due to rounding.